|   |              | Tommy's La       | awn Service | Christensen's Plant Center |             | Titan Commercial Inc. |             |
|---|--------------|------------------|-------------|----------------------------|-------------|-----------------------|-------------|
|   |              | East China,      | MI 48054    | Plymouth,                  | MI 48170    | Southfield,           | MI 48076    |
| Description   | Qty          | <b>Unit Cost</b> | Ext Cost    | <b>Unit Cost</b>           | Ext Cost    | <b>Unit Cost</b>      | Ext Cost    |
| Section #1-Sensory Garden-Innovation  | Hills        |                  |             |                            |             |                       |             |
| Shade Trees   |              |                  |             |                            |             |                       |             |
| Lakeview Maidenhair Tree  | 1            | \$401.00         | \$401.00    | \$310.00                   | \$310.00    | \$837.00              | \$837.00    |
| Thornless Honeylocust   | 1            | \$350.00         | \$350.00    | \$240.00                   | \$240.00    | \$754.00              | \$754.00    |
| Evergreen Trees   |              |                  |             |                            |             |                       |             |
| Blue Arrow Juniper  | 8            | \$81.00          | \$648.00    | \$98.00                    | \$784.00    | \$495.00              | \$3,960.00  |
| Ornamental Trees  |              |                  |             |                            |             |                       |             |
| Shadblow Serviceberry   | 1            | \$235.00         | \$235.00    | \$164.00                   | \$164.00    | \$468.00              | \$468.00    |
| Reflection Serviceberry   | 3            | \$292.00         | \$876.00    | \$164.00                   | \$492.00    | \$468.00              | \$1,404.00  |
| Paperbark Maple   | 1            | \$395.00         | \$395.00    | \$237.00                   | \$237.00    | \$630.00              | \$630.00    |
| Rosy O'Grady Eastern Redbud   | 2            | \$206.00         | \$412.00    | \$142.00                   | \$284.00    | \$322.00              | \$644.00    |
| Ruby Falls Eastern Redbud   | 1            | \$341.00         | \$341.00    | \$175.00                   | \$175.00    | \$145.00              | \$145.00    |
| Upright Cornelian Cherry Dogwood  | 2            | \$150.00         | \$300.00    | \$143.00                   | \$286.00    | \$430.00              | \$860.00    |
| Sweet Bay Magnolia  | 1            | \$150.00         | \$150.00    | \$103.00                   | \$103.00    | \$245.00              | \$245.00    |
| Shrubs  |              |                  |             |                            |             |                       |             |
| Wintergreen Boxwood   | 40           | \$66.50          | \$2,660.00  | \$34.00                    | \$1,360.00  | \$94.00               | \$3,760.00  |
| Nanum Dwarf Cranberry   | 6            | \$51.00          | \$306.00    | \$22.00                    | \$132.00    | \$74.00               | \$444.00    |
| Section #1 Subtotal - Cost to provide all trees & Shrubs:                                 |              | \$7,074.00       |             | \$4,567.00                 |             | \$14,151.00           |             |
| Lump sum cost for LABOR to plant all  | trees and sl | nrubs (Section   |             |                            |             |                       |             |
| #1) as bid above:   |              |                  | \$7,074.00  |                            | No Planting |                       | \$3,835.00  |
| <b>Section #1 Total -</b> Cost to provide trees, shrubs and labor to plant all materials: |              |                  | \$14,148.00 |                            | \$4,567.00  |                       | \$17,986.00 |

|   |     | Tommy's Lawn Service |            | Christensen's Plant Center |            | Titan Commercial Inc. |            |
|---|-----|----------------------|------------|----------------------------|------------|-----------------------|------------|
|   |     | East China, MI 48054 |            | Plymouth, MI 48170         |            | Southfield,           | MI 48076   |
| Description                             | Qty | Unit Cost            | Ext Cost   | Unit Cost                  | Ext Cost   | Unit Cost             | Ext Cost   |
| Section #2-Sensory Garden-Innovation Hi | lls |                      |            |                            |            |                       |            |
| Perennials                              |     |                      |            |                            |            |                       |            |
| Basket of Gold                          | 30  | \$14.25              | \$427.50   | \$8.50                     | \$255.00   | \$25.90               | \$777.00   |
| Goat's Beard                            | 24  | \$14.75              | \$354.00   | \$8.50                     | \$204.00   | \$26.60               | \$638.40   |
| Astilbe                                 | 5   | \$14.75              | \$73.75    | \$7.00                     | \$35.00    | \$23.31               | \$116.55   |
| Bergenia                                | 33  | \$14.25              | \$470.25   | \$10.75                    | \$354.75   | \$16.66               | \$549.78   |
| Tussock Bellflower                      | 99  | \$14.25              | \$1,410.75 | \$6.75                     | \$668.25   | \$27.02               | \$2,674.98 |
| Golden Tickseed                         | 85  | \$14.25              | \$1,211.25 | \$6.50                     | \$552.50   | \$21.38               | \$1,817.30 |
| Purple Coneflower                       | 17  | \$14.25              | \$242.25   | \$10.50                    | \$178.50   | \$15.26               | \$259.42   |
| Joe Pye Weed                            | 12  | \$14.25              | \$171.00   | \$10.50                    | \$126.00   | \$21.40               | \$256.80   |
| Crown Imperial                          | 42  | \$21.25              | \$892.50   | \$6.50                     | \$273.00   | \$27.60               | \$1,159.20 |
| Avens                                   | 48  | \$14.25              | \$684.00   | \$6.00                     | \$288.00   | \$26.40               | \$1,267.20 |
| English Lavender                        | 45  | \$14.25              | \$641.25   | \$8.25                     | \$371.25   | \$22.38               | \$1,007.10 |
| Dense Blazing Star                      | 2   | \$14.75              | \$29.50    | \$10.50                    | \$21.00    | \$24.10               | \$48.20    |
| Blue Flax                               | 120 | \$18.95              | \$2,274.00 | \$10.50                    | \$1,260.00 | \$21.35               | \$2,562.00 |
| Bee Balm                                | 135 | \$14.25              | \$1,923.75 | \$10.50                    | \$1,417.50 | \$21.00               | \$2,835.00 |
| Catmint                                 | 20  | \$16.25              | \$325.00   | \$5.50                     | \$110.00   | \$29.70               | \$594.00   |
| Narrowleaf Evening Primrose             | 55  | \$15.95              | \$877.25   | \$9.75                     | \$536.25   | \$28.40               | \$1,562.00 |
| Sensitive Fern                          | 17  | \$14.75              | \$250.75   | \$10.75                    | \$182.75   | \$24.40               | \$414.80   |
| Balloon Flower                          | 38  | \$14.25              | \$541.50   | \$7.50                     | \$285.00   | \$22.90               | \$870.20   |
| Jacob's Ladder                          | 10  | \$14.75              | \$147.50   | \$10.50                    | \$105.00   | \$23.15               | \$231.50   |
| Christmas Fern                          | 17  | \$14.75              | \$250.75   | \$10.75                    | \$182.75   | \$44.80               | \$761.60   |
| Trevi Fountain Lungwort                 | 92  | \$17.75              | \$1,633.00 | \$10.00                    | \$920.00   | \$22.28               | \$2,049.76 |
| Vines                                   |     |                      |            |                            |            |                       |            |
| Trumpet Honeysuckle                     | 8   | \$25.50              | \$204.00   | \$25.25                    | \$202.00   | \$24.20               | \$193.60   |
| Ornamental Grasses                      |     |                      |            |                            |            |                       |            |
| Blue Fescue 'Elijah Blue'               | 28  | \$14.75              | \$413.00   | \$8.75                     | \$245.00   | \$22.40               | \$627.20   |
| Japanese Blood Grass                    | 55  | \$14.75              | \$811.25   | \$10.50                    | \$577.50   | \$25.78               | \$1,417.90 |
| Fountain Grass                          | 12  | \$14.75              | \$177.00   | \$15.00                    | \$180.00   | \$38.16               | \$457.92   |

|  | Tomn |             | awn Service          | Christensen's Plant Center |             | Titan Commercial Inc. |             |
|--|------|-------------|----------------------|----------------------------|-------------|-----------------------|-------------|
| _  |      | East China, | MI 48054 Plymouth, I |                            | MI 48170    | Southfield,           | MI 48076    |
| Description  | Qty  | Unit Cost   | Ext Cost             | Unit Cost                  | Ext Cost    | <b>Unit Cost</b>      | Ext Cost    |
| Edibles  |      |             |                      |                            |             |                       |             |
| 'Catawba' Grape  | 6    | \$25.50     | \$153.00             | \$10.75                    | \$64.50     | \$113.40              | \$680.40    |
| 'Concord' Seedless Grape   | 6    | \$25.50     | \$153.00             | \$10.75                    | \$64.50     | \$113.40              | \$680.40    |
| Gala Apple Tree  | 4    | \$250.00    | \$1,000.00           | \$85.25                    | \$341.00    | \$165.60              | \$662.40    |
| Bartlett Pear Tree   | 4    | \$198.00    | \$792.00             | \$85.25                    | \$341.00    | \$174.60              | \$698.40    |
| Section #2 Subtotal - Cost to provide all perennials, vines, grasses and |      |             |                      |                            |             |                       |             |
| edibles:   |      | \$18,534.75 |                      | \$10,342.00                |             | \$27,871.01           |             |
| Lump sum cost for LABOR to plant all perennials, vines grasses &         |      |             |                      |                            |             |                       |             |
| edibles (Section #2) as bid above:                                       |      |             | \$18,534.75          |                            | No Planting |                       | \$4,865.00  |
| Section #2 Total - Cost to provide perennials, vines, grassed, edibles   |      |             |                      |                            |             |                       |             |
| and labor to plant all materials:  |      |             | \$37,069.50          |                            | \$10,342.00 |                       | \$32,736.01 |

|   |     | Tommy's Lawn Service |          | Christensen's Plant Center |          | Titan Commercial Inc. |          |
|---|-----|----------------------|----------|----------------------------|----------|-----------------------|----------|
|   |     | East China, MI 48054 |          | Plymouth, MI 48170         |          | Southfield, MI 48076  |          |
| Description                                 | Qty | <b>Unit Cost</b>     | Ext Cost | <b>Unit Cost</b>           | Ext Cost | <b>Unit Cost</b>      | Ext Cost |
| Section #3-Learning Garden-Innovation Hills |     |                      |          |                            |          |                       |          |
| Zinnia Elegans                              | 3   | \$75.00              | \$225.00 | \$16.50                    | \$49.50  | \$88.75               | \$266.25 |
| Anise Hyssop                                | 6   | \$15.25              | \$91.50  | \$8.00                     | \$48.00  | \$21.50               | \$129.00 |
| Helenium                                    | 6   | \$15.75              | \$94.50  | \$8.50                     | \$51.00  | \$27.60               | \$165.60 |
| Spider Flower                               | 6   | \$30.00              | \$180.00 | \$6.50                     | \$39.00  | \$26.80               | \$160.80 |
| White Coneflower                            | 6   | \$15.25              | \$91.50  | \$5.50                     | \$33.00  | \$29.94               | \$179.64 |
| Red Shrub Rose                              | 3   | \$49.50              | \$148.50 | \$16.75                    | \$50.25  | \$33.60               | \$100.80 |
| Blacke-eyed Susan                           | 10  | \$15.25              | \$152.50 | \$5.50                     | \$55.00  | \$24.20               | \$242.00 |
| Purpleleaf Sand Cherry                      | 3   | \$49.50              | \$148.50 | \$24.25                    | \$72.75  | \$27.10               | \$81.30  |
| Shasta Daisies                              | 12  | \$15.25              | \$183.00 | \$6.50                     | \$78.00  | \$21.90               | \$262.80 |
| Coreopsis Verticillata                      | 6   | \$15.25              | \$91.50  | \$6.50                     | \$39.00  | \$26.90               | \$161.40 |
| Purple Fountaingrass                        | 4   | \$21.50              | \$86.00  | \$10.00                    | \$40.00  | \$38.60               | \$154.40 |
| Horsemint                                   | 3   | \$50.00              | \$150.00 | \$10.50                    | \$31.50  | \$94.00               | \$282.00 |
| Lavender                                    | 6   | \$50.00              | \$300.00 | \$8.25                     | \$49.50  | \$92.00               | \$552.00 |
| Bee Balm                                    | 6   | \$15.25              | \$91.50  | \$6.00                     | \$36.00  | \$23.40               | \$140.40 |
| Iris  | 6   | \$15.75              | \$94.50  | \$6.25                     | \$37.50  | \$13.30               | \$79.80  |
| Purple Cone Flower                          | 6   | \$15.25              | \$91.50  | \$5.50                     | \$33.00  | \$22.10               | \$132.60 |
| Butterfly Milkweed                          | 6   | \$15.75              | \$94.50  | \$10.50                    | \$63.00  | \$23.60               | \$141.60 |
| Baneberry                                   | 6   | \$30.00              | \$180.00 |                            | \$0.00   | \$26.30               | \$157.80 |
| Wild Ginger                                 | 6   | \$24.50              | \$147.00 | \$7.00                     | \$42.00  | \$25.25               | \$151.50 |
| Wild Indigo                                 | 6   | \$15.25              | \$91.50  | \$15.50                    | \$93.00  | \$41.29               | \$247.74 |
| Coreopsis Lanceolta                         | 2   | \$15.75              | \$31.50  | \$6.50                     | \$13.00  | \$28.30               | \$56.60  |
| Coreopsis Palmata                           | 2   | \$15.00              | \$30.00  | \$10.50                    | \$21.00  | \$21.38               | \$42.76  |
| Coreopsis Triteris                          | 2   | \$39.50              | \$79.00  | \$10.50                    | \$21.00  | \$21.38               | \$42.76  |
| Boneset                                     | 6   | \$15.75              | \$94.50  | \$10.50                    | \$63.00  | \$27.90               | \$167.40 |
| False Sunflower                             | 6   | \$15.75              | \$94.50  | \$8.50                     | \$51.00  | \$28.10               | \$168.60 |

|  |           | Tommy's La        | awn Service                                       | Christensen's Plant Center   |   | Titan Commercial Inc.            |                   |  |
|--|-----------|-------------------|---|--|---|----------------------------------|-------------------|--|
|  |           | East China,       | MI 48054  | Plymouth, MI 48170   |   | Southfield, MI 48076             |                   |  |
| Description  | Qty       | Unit Cost         | Ext Cost  | Unit Cost  | Ext Cost  | Unit Cost                        | Ext Cost          |  |
| Blue Lobelia   | 6         | \$15.75           | \$94.50   | \$10.50  | \$63.00   | \$23.52                          | \$141.12          |  |
| Spiderwort   | 6         | \$45.00           | \$270.00  | \$6.50   | \$39.00   | \$23.30                          | \$139.80          |  |
| Vervain Species  | 6         | \$15.95           | \$95.70   | \$10.50  | \$63.00   | \$28.60                          | \$171.60          |  |
| Culvers-Root   | 6         | \$15.95           | \$95.70   | \$10.50  | \$63.00   | \$28.20                          | \$169.20          |  |
| Section #3 Subtotal - Cost to provide all veg              | etation:  |                   | \$3,618.40  |  | \$1,338.00  |                                  | \$4,889.27        |  |
| Lump sum cost for LABOR to plant all verbid above:         | getaton ( | (Section #3) as   | \$3,618.40  |  | No Planting                                       |                                  | \$2,460.00        |  |
| Section #3 Total - Cost to provide vegetation              | and lab   | or to plant all   | Φ <b>7</b> 22 € 00                                |  | ф1 <b>22</b> 0 00                                 |                                  | ф <b>т</b> 240 25 |  |
| materials:   |           |                   | \$7,236.80  |  | \$1,338.00  |                                  | \$7,349.27        |  |
| Total Section #1, #2 & #3:                                 |           |                   | \$58,454.30                                       |  |   |                                  | \$58,071.28       |  |
| Note any additional charges:                               |           | machine - \$120/h | fix in ground =<br>r, repair cost plus<br>an hour | Wholesale supplier. Vendor does not plant but would provide the plants for City contractor.                        |   |                                  |                   |  |
| Company guarantees plant material fo a period of one year? |           | Y                 | 'es   |  | No. Will supply the best plants for your project. |                                  | Yes               |  |
| State lead-time required to perform services:              |           | 30 Days           | or sooner   | 14 Days  |   | 30 Days                          |                   |  |
| State any exceptions:                                      |           | None              |   | Can not warranty due to plant care. However, we will provide top quality product - true to name, size and variety. |   | warranty will apply provided new |                   |  |
| Can meet City insurance requirements?                      |           | Yes               |   | Yes  |   | Yes                              |                   |  |
| Payment terms:   |           | section, remai    | % late payment                                    | 5% Discount if paid COD or City terms. Prices are good for 30 days.  |   | Net 30 Days                      |                   |  |

|                           |     | Tommy's La                     | awn Service | Christensen's Plant Center     |          | Titan Commercial Inc. |          |
|---------------------------|-----|--------------------------------|-------------|--------------------------------|----------|-----------------------|----------|
|                           |     | East China, MI 48054           |             | Plymouth, MI 48170             |          | Southfield, MI 48076  |          |
| Description               | Qty | Unit Cost Ext Cost             |             | Unit Cost                      | Ext Cost | Unit Cost             | Ext Cost |
| Accept MasterCard?        |     | Yes + 4%                       |             | Yes                            |          | Yes + 1.5%            |          |
| Preferred payment method: |     | Credit card, ACH               |             | Check                          |          | Credit card, Check    |          |
|                           |     | Red pricing denotes substitute |             | Red pricing denotes substitute |          |                       |          |
| Notes:                    |     | name, size or seasonal         |             | name, size or seasonal         |          |                       |          |